1
1= GDipole[@_] : =

(1+ Abs[QZ])z
0.71
n2= GEp[QR_] : = GDi pol e [Q]
GVp[@_] : =2.79 GDipol e[Q@]
GW[Q@2_]:=-1.91Ghi pol e[Q]
1.91¢
GEn[@_, t_]:= ———— CDipole[Q]
1+56¢

inel:= Show[Pl ot [GEp[@], {@, O, 1.2}, PlotRange » All]]

1.0

0.8
0.6

out[6]= [

0.4
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In[183]:=

n171:= ProtonAsymmetry[Q2_, MIg_, ee_, estar_, ¢star_] := l\/bdule[{Pp = -0.027,

2
fp = -1
2}
@ .
T = - :
4 Mrg?
1
vL = _—
(l+1:)2
1 1 ee .2
vT = — +Tan[—];
2 (1+1) 2

ee 1 ee .2
vTb = Tan[?] \/ o Tan[?] :

1
vTLb = - —— Tan[— :

Ap =
Cos[estar]vTb2 t GWp[@]? + Sin[estar] Cos[¢star ] vTLbszEp[@] lep[QZ].
VL (1+t) GEp[@]12 + VT2 t GV [@]? ’

Ap3He = PpApfp

T T
In[38]:= ProtonAsynmatry[—O. 35, 0.93827, 14.55, > o]

outzgl= -0. 00234497
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T T
In[37]:= Show[PI ot [ProtonAsynmetry[-x, 0.93827, 14.5 —, —, o],
180 2

{x, 0.001, 1.2}, PlotRange » All, PlotStyle - {Thickness[0.01], HuelO. ]}],

T
Pl ot [Pr ot onAsynmet ry[—x, 0.93827, 14.5 —, 0, 0], {x, 0.001, 1.2}, PlotRange » Al I,
180

Pl ot Styl e » {Thi ckness[0.01], Hue[O. 7]}], AxeslLabel - {"|Q|", "AX', Az }]

AX', AZ

0.001
Out[37]=

—-0.001
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